VALENCE PRIMARY SCHOOL KS2 Maths Challenge: April 2025
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Easter Joke Duration N 4 Easter Maths
(24 Hour) COde Breaher é@f p q 1. In one year, 78 862 314 Easter eggs were sold in the UK.
v a) Round this number to the nearest one million.

To find the punch line to the Easter joke, work out the duration of time for each question. Next, use the :
grid to find the letter that corresponds with each answer and write it in the egq. Then crack the code. b) Round this number to the nearest ten thousand.

The first one is done for you.
j c) If an extra 2 million eggs had been sold, what would

Question: What do you get if you cross a bee with a rabbit?
this number be rounded to the nearest one million?
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